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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in 5. Today is Sunday. The day before
the blanks with suitable articles like yesterday was
‘a’, ‘an’ and ‘the’ : (A) Tuesday
1. In this school, all students (B) Friday
are given free education. (C) Thursday
EA) an (D) More than one of the above
B) a
(©) the (E) None of the above

(D) More than one of the above

(E) None of the above 6. November comes after the

month of
2. I have a friend in Mumbai who (A) September
i(Z)— actress. (B) December
(B) :n (C) January
(C) the (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

7. Husband’s brother is
3. Which of the following is not

a river? (A) cousin

(A) Bay of Bengal (B) son

(B) Godavari (C) brother-in-law

(C) Ganga (D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

4. Which of the following is not 8. Mother’s parents are

a part of drawing room? (A) son-in-laws

(A) Washing machine (B) maternal grandparents
(B) Chimney (C) paternal grandparents

(C) Sofa set

(D) More than one of the above (D) More than one of the above
(E) None of the above (£) None of the above
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9. fumfaftgd & 4 wm-w1 ‘yem-ted

10.

11.

12.

ITeg 77

(A) I

(B) wafagd

(C) Sgarm

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & #1$ T

T < g qiTT B

(A) TR =1 9a gehe w91 wdw

A fTEYE AT FHEATdT
(B) fo=m =1 vma =t fafu-fugt o wehe
T ol W FEd ©

(C) foem a1 9 Yehe & w1 WIeH
e 2

(D) 39w | ¥ TH ¥ M
(E) 30 | ¥ 18

TR % fohad TR 7

(A) =

(B)

(C) =m

(D) 3w W | TH A Afh
(E) 39t o & g 7

T T HE-4T 87

(A) 1

(B) sm

(©) %

(D) 39w H ¥ UH ¥ M+
(E) 394 # & hrg 7

23/MAV/M-2023-05/S3 (S)/112-A

3

13.

14.

15.

16.

IHANO o MY G SIS okl ITfieRor
fopa st | feRam ST Hehar 27

(A) =

(B) @

(C) 313

(D) 3 U | UH A Afh
(E) 393t o & I8 T

‘e’ eafy wE-w 27
(A) @

B) =

(C) ®

(D) 30w W | TH § Afh
(E) 39t § ¥ 1g T

‘o’ ety Fwe- 27

(A)

(B)

(C) &

(D) 3w W | TH § Al
(E) 3udth § & #1$ T

Tqeff = 7

(A)

(B) %

(C) =

(D) 30w W | TH § Afh
(E) 3w # & g e
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= o FeH §
(A) =
(B) =
€ =
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(E) 37 & & 18 e
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(B) (@) ik ()

(C) () 3R (%)
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(E) 3udth # & 1S 7

foreim w1sg 61 F=-T1 W w77
(A)  PTIRE—HTHR

(B) pran—far

(C) Teha—Tasha

(D) 39Y® | ¥ TH ¥ M
(E) 3udth § @ 1$ T

frafafaa & 9 #F-u1 T agE 27
(A) =8 FHEA AT T 2 |

(B) =@ I@HI =g |

(C) To™ IT wW 9vd T |

(D) 39w W | TH § Afh
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AT & MR WV -9 fashed a6t
g & 27
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(B) T dTH
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(D) 30w U | TH A Afh
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(A) S wTeq

(B) wehreff w1sg

(C) tarreff v1sg

(D) 39w H ¥ UH ¥ M+
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T Ueh Ied AT A Y

(A)  FTrEh

(B) 1™

(C) =g

(D) 39w H ¥ TH ¥ M
(E) 3udh # & *rS 7

9 H WO-dld w Y w9
forwor wrEeTd &

(A) TEEES

(B) U=

(C) wrdATH®

(D) 39Y® | ¥ TH ¥ M
(E) 39w & & &g 7
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28. AT & YT W ST s {ohT HITS I

29.

30.

27

(A) ®e =

(B) ifirs v1sg

(C) dnTEg Treg

(D) 39w W | TH ¥ Afeh
(E) 3udth # & 1S T

frefafaa 8 @ ®F-a1 ol 3= 27
(A) 3=

(B) ®Rat

(C) sws

(D) 39w | ¥ UH ¥ M+

(E) 39 o & 18 7

“Sfea IR o9 W e a1 w\n|
ot da TS 9a & dred gl

30k 3R H FH-U1 AcAHE 87
(A) ®IF

(B) 3wl

(C) e

(D) 39w | ¥ UH ¥ M+
(E) 39w & & 18 T
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PART—II
( GENERAL STUDIES )

31. The cost of 5 bats and 18 balls is
¥6,500 and the cost of 2 bats
and 20 balls is ¥4,200. What
are the costs of one bat and one
ball respectively?

(A) ¥850, 125

(B) €630, T115

(C) ¥780, ¥T150

(D) More than one of the above
(E) None of the above

32. A shopkeeper purchases an item
at 615 and sells it at ¥820.
What is his percentage profit?

(A) 25%
(B) 33-33%
(C) 35:50%

(D) More than one of the above

(E) None of the above

33. A hacker finds that the ATM PIN
of a person has first two digits
ranging from 3 to 8, and the
fourth digit is either O or 9. How
many attempts must the hacker
try in order to decode the PIN?

(A) 48
(B) 24
(C) 720

(D) More than one of the above

(E) None of the above
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34. The lengths of two sides of a
triangle are 8 cm and 9 cm, and
its area is 125 cm?. What is

the length of the third side?

(A) S cm
B) 9 cm
(C) 7 cm

(D) More than one of the above

(E) None of the above

35. There are 50 numbers. Each
number is subtracted from 53,
and the mean of the numbers so
obtained is found to be -3-5.
The mean of the given numbers
is

(A) 565
(B) 535
(C) 495

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

5 agi 3R 18 Tiel i Fwd € 6,500 8
quT 2 9l 3R 20 Ter H hmEd
4,200 | TH ag1 AR TH T Hi
HAd 8, FHHM:

(A) €850, ¥125

(B) €630, T115

(C) €780, 150

(D) 39w H ¥ UH ¥ M+

(E) 3w & o 18 T

T gHHER TRt axg @ $615 H
wligal ¥ 2 38 820 ¥ 39 IO B
36T Tfcrrd AT foheT 27

(A) 25%

(B) 33-:33%

(C) 35-50%

(D) 39w H ¥ UH ¥ M+
(E) 3udeh & & 1S 7

T B YAl ORIAT & Toh Uk Afh %
ATM PIN & Y&l 3 3% 3 ¥ 8 &
I Tt O 9 g, 3R e 3% 0 A
9 2| 3 gH &l PIN & 9dl & &
U forae wamg o wen?

(A) 48

(B) 24

(C) 720

(D) 39w | ¥ TH ¥ M

(E) 37 | & 18 T
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36. The ratio of the ages of two
brothers is 4 :3. If the elder
brother is 6 years older than the
younger one, then their ages (in

years) are
(A) 24, 18
(B) 36, 30
(C) 15,9
(D) More than one of the above
(E) None of the above
37. The value of
e3--2
2 3 4 n
is
(A) n-1
n
®) »
n
1
Cc)
© n+l1
(D) More than one of the above
(E) None of the above
38. The quadratic equation with

roots —1 and 4 is

(A) x2-3x-4=0

(B) x2+3x+3=0

(C) x%2-4x+1=0

(D) More than one of the above
(E) None of the above
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39. The Sun observation point of
Aditya-L1 satellite is
(A) L1
(B) L2
(C) L3
(D) More than one of the above
(E) None of the above

40. Ginger is an underground stem
and not a root because
(A) it stores food material
(B) it has nodes and inter-

nodes

(C) it lacks chlorophyll
(D) More than one of the above
(E) None of the above

41. The focal length of a convex lens

is f =10 cm. On immersing in
water, it will act as a

(A) convex lens of f; =10 cm

(B) concave lens of f; =10 cm
(C) convex lens of f; >10 cm

(D) More than one of the above

(E) None of the above
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42. Though water is transparent to

43.

visible light, it is not possible to
see distant objects in fog which
consists of fine drops of water.
This is so because

(A) fine drops of water are
opaque to visible light

(B) most of the light is scattered
to create apparent opacity

(C) light rays suffer total
internal reflection and so
unable to reach observer’s
eyes

(D) More than one of the above
(E) None of the above
Monochromatic light enters from
one medium to the other. Which

one of the following properties
does not change?

(A) Frequency

(B) Amplitude

(C) Velocity

(D) More than one of the above

(E) None of the above
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44,

45.

46.

The speed of an electron in the
orbit of the hydrogen atom in
the ground state is

(A) ¢
B) c/2
(C) ¢/137

(D) More than one of the above

(E) None of the above

A blackbody radiates energy at
the rate of E watt per metre? at
a high temperature T K. When
the temperature is reduced to
T/3K, the radiant energy
(in watt per metrez) will be

A) E/16
(B) E/27
(C) E/81

(D) More than one of the above

(E) None of the above

The acid which can destroy the
colour of acidic KMnO, is

(A) CH3COOH

(B) CeHgO7

(C) CH3CH,COOH

(D) More than one of the above

(E) None of the above



42. Tl g9 TH A S IR Bl 2,

43.

T e w A A WA g9l A
fffa =t o 98 <@ S wwhdall a9
Tafe Bl €, HiTh

(A) T THW B A B OTEH g
raresft gt 8

(B) AfUhaR Tehrer  forawet  smmumdt
srequen ffifq s @

(C) wehrer forzori a1 qui stiafier wRrerdH
B ¥ d Uk il Wi qsk gl
g Tt &

(D) 39w | ¥ TH ¥ M

(E) 3w & © 18 T

THAT TR T WIETH § gE AT |

Ton Al gl Fefafga 4 9 we-a
o7 AE Seerar 27

(A) s

(B) 3T

(C) &m

(D) 30w W | TH § Afh

(E) 37 | & 18 e
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47. Who was the writer of ‘Banglar
Mati, Banglar Jal’, which was
originally a protest song against
the Partition of Bengal in 1905
by Lord Curzon, and for which
the West Bengal Assembly
passed a resolution as the new
State Anthem recently?

(A) Kazi Nazrul Islam

(B) Rabindranath Tagore

(C) Sukanta Bhattacharya

(D) More than one of the above

(E) None of the above

48. Who is the architect of the new
Parliament of India building
inaugurated recently?

(A) Bimal Patel

(B) Rahul Mehrotra

(C) Yogesh Kapoor

(D) More than one of the above

(E) None of the above

49. Which one of the following
Indian films was screened at
the 76th Cannes Film Festival
in May 20237

(A) Anurag Kashyap’s Kennedy
(B) Kanu Behl’s Agra

(C) Neeraj Pandey’s Khakee
(D) More than one of the above

(E) None of the above
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50. Azali Assoumani, who attended
the G20 Summit in New Delhi as
the current Chairperson of the
African Union which has
become the newest member of
G20, is the President of which
country in the African Union?

(A) Republic of the Congo

(B) Gabon

(C) Comoros

(D) More than one of the above

(E) None of the above

51. When is the ‘Human Rights Day’
celebrated annually?

(A) 10th November

(B) 10th December

(C) 24th October

(D) More than one of the above

(E) None of the above
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53.

54.

Who was the founder of Indian
National Army (INA)?

(A) Subhash Chandra Bose
(B) Mohan Singh

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above

‘Tana Bhagat Movement’ was
related to

(A) Dalit Movement

(B) Tribal Movement

(C) Peasant Movement

(D) More than one of the above

(E) None of the above

In which State is ‘Raksha
Bandhan’ celebrated as ‘Tree
Safety Day’?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Bihar

(D) More than one of the above

(E) None of the above
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55.

56.

In which of the following states
is black soil found?

(A) Karnataka

(B) Gujarat

(C) Uttarakhand

(D) More than one of the above

(E) None of the above

How many types of species of

flora and fauna are there in
India?

(A) 81000 species of fauna and
47000 species of flora

(B) 70000 species of fauna and
50000 species of flora

(C) 50000 species of fauna and
40000 species of flora

(D) More than one of the above

(E) None of the above
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57. Minerals

58.

59.
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are deposited and 60.
accumulated in the strata of
which of the following rocks?
(A) Sedimentary rocks
(B) Metamorphic rocks
(C) Igneous rocks
(D) More than one of the above
(E) None of the above
Which one of the following is a ol
leguminous crop?
(A) Pulse
(B) Jowar
(C) Millet
(D) More than one of the above
(E) None of the above

62.

Which two of the following
extreme locations are connected
by the East-West Corridor?

(A) Mumbai and Nagpur
(B) Mumbai and Kolkata
(C) Silchar and Porbandar
(D)

More than one of the above

(E) None of the above
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Stalactite and stalagmite
structures are formed by

(A) wind action

(B) underground water
(C) snow action
(D)

More than one of the above

(E) None of the above

April 22 is celebrated as the
(A) World Earth Day
(B) World Health Day
(C) World Ozone Day
(D)

More than one of the above

(E) None of the above

Topographical map of India is
prepared by which organization?

(A) The Geological Survey of
India

(B) The Survey of India

(C) The Zoological
India

Survey of

(D) More than one of the above

(E) None of the above
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63.

64.

65.

66.

Who first described the Revolt of
1857 as the ‘First Indian War of
Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) R. C. Majumdar

(D) More than one of the above

(E) None of the above

Which of the following events
happened first?

(A) Santhal Rebellion

(B) Rebellion of Birsa Munda
(C) Tana Bhagat Movement
(D) More than one of the above
(E) None of the above

Which revolt is mentioned in
Bankim Chandra Chatterjee’s
novel, Anandamath?

(A) Sannyasi

(B) Pagalpanthi

(C) Indigo

(D) More than one of the above
(E) None of the above

When were ‘Swadeshi’ and
‘Boycott’ first adopted as forms
of struggle in India?

(A) Partition of Bengal

(B) Home Rule Movement

(C) Non-Cooperation Movement
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Who was the President of the
Indian National Congress at the
Gaya Session of 19227

(A) Chittaranjan Das

(B) Hakim Ajmal Khan

(C) Mahatma Gandhi

(D) More than one of the above
(E) None of the above

Who led the peasants of Bihar
during the Non-Cooperation
Movement?

(A) Raj Kumar Shukla

(B) Swami Vidyanand

(C) Rajendra Prasad

(D) More than one of the above
(E) None of the above

Who founded Hindu College at
Calcutta in 18177?

(A) Henry Vivian Derozio

(B) David Hare

(C) Jonathan Duncan

(D) More than one of the above
(E) None of the above

Who among the following said
that “Congress is to tottering to
its fall and one of my great
ambitions while in India is to
assist it to a peaceful demise”?

(A) Dufferin

(B) Minto

(C) Curzon

(D) More than one of the above
(E) None of the above
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Note : English version of the instructions is printed on the First Page of this Booklet.
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